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iscrlbe the Emic and Et(’pe rspectives |

a number of health personnel pa ricipate ]

7 (AW, CHEW, CH(,

"o 57 In|the community health strategy (CHS),

" activities of CHS.

‘:tl,tist 3 categories of these health pcrsonnel
escribe briefly their roles

At .fiow are they compensated for the extra work

LI

\
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7. n economics theory, why Is the slope of the demand curve negative (downward S|0pe)

y ) and supply curvea osltive slope (slopes uewnadit 4y .
WA M h caus WL'\
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}f In aclinical trial involving batients aged 65-74 whose systolic pressure was
between 160 and 209 mmHg and whose diastolic pressure was leéss than 115 mmHg,
3t patients were randomly assigned to initial therapy with a diuretic or a beta'ﬁ:cker ora
o vl ‘matched placebo, and then followed i:p for an average of 5.8 -8 years. The main objective

i= was to see if a policy of anti-hypertensive treatment. reduces the risk of stroke, co,qnary
heart d—iiggse and death. The main results are as follows:

% oo A fogy P Active treatment : :

- - . Dluretic . Beta-blocker .+ | Placebo o
ey .- | No.ofpatients 1081 - . | 1102 2213

F+%ge. ) | Steokes 45 |56 | 134
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intervdls in both cases Is there significant evidence for there being
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cad and follow the i 1nstruct|ons There are three(3) sections to th:s paper. Y 25
%n?l_ SHORT ANSWER QUESTIONS L
| TION 1 AND 2 are compulso: y. Freii ucstion carries 10 marks *° - ?';»
; b 17
; ., Sectioh II: SHORT ANSWER.QUESTIONS ., . o st G
Answer any other eight (8) questions. Each question: camcs 10 marks N I S
Section III: LONG ANSWER QUESTIONS - o gy v e
Answer BOTH questions in I.hJS section. Each question carries 20 marks _ S
o ¢ The Total time allocated to this' Paper is 3 hours -
0 o : :
0 Write your student registration number on EACH answer paper . H

ANSWER EACH QUESTION ON-A SEPARATE SHEET OF PAPER

Section I: SHORT ANSWER QUESTIONS (Questlons 1 and 2 are compulsory)

ambu muo!vmg_mndam,samplr:__og 800 women
C

.5 a‘ -
!"i 5o
[ —— i

l"'ln a recent commumly diagnosis in greater Ki
ufrcproducuve age, 550 were found to be cugzen

/a.} What is l@gmof women of reproductive age who were cum:ntly
YD)y " 100% = 08 F5h

% confidence interval for the proportion-women of reproductwe agt who

method in the é}opulanon from which this sample was dré wn.

tly using a family planning meLhod_
usmg a mclhod‘?
' bj’Wntc down a 99 i- .

“were currently usm&;
T
pr 6875 ¥ o Gg. 15 (€015
" Note: the samp!mg variance of a proportion is given by: o
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[ 4 ; espiratory illness
/ Outline two ways by wh:c urbamz.anoﬂ hereases the prevalence Of TespIriory

among uroan dwellers -/ - ;

5/ Dr. James is planning to conduct a study uqth- rclanpnshtp between physical actvity )
and developing of diabetés. He decides to carry-oul a]c.asc-control study for his rescarc

problem. List two (2) advantages and three {3) dlsad\{aniagts of Dr. James' study-\/

Raress
-\/ Select one cultural practice and explain its unphczuon for health v W ‘éi- i?_:: ’

,J/Llstfourfcamrcsofa fulE - based health ammc§ - ,,;,.4-"
success ommumty ase ca Progr: o~ &A“b%wh%hm

| ('_,E‘t .
9/ Using examples, distinguish between nutsition screenjng and nutritional s lr'-’ﬂl“m“:e v Y7
- T 1 B W
16. p)Blate three methods of preventing ﬁr m

\P)/Slale two KEY stalrcholdcrs who in case ofdlsasqcrs such as fire are the mos!
beneficiaries of matcrla{hif data ShCLtI (MBS S} Tuat[ hoyw, l}_lgy benefit from M
% R ARy R Vesn ”MP mw" 'l;'ﬁ;

oy m\‘m\\‘bﬂ R L) I"““-" Toge el
I1. Define thc'\'l?’ Jﬁ?r:doph:c Cvc]t:, J_,arval habnuts Highlight how

these can be used for control of malan'a.

A
)

<
xfa 7. Define the concepts of average and marginaj costs. G|vc-. an application example in 1he‘/
4 provision of health care / ‘ .
. [} [}
I 1

Section III: LONG ANSWER QUESTIONS. (Ar:';swat; BOTH questions in this section)
: . : )

- Wl i .

" 1. In the budgeting process, d N

. a e
a) Differentiate between step down allocation arnd a:':tivip- based costing.
L - i .

b) Which method would youy use to deteymine ‘fosts of a maternity care?

¢) What information do youirequire in order to! work outilhc budget?

2. Fnllowmg an intervention to unprov-: healthier llfc rtyl..s ﬂ:c following diastolic blood
;rc-.-mrrc levels were rccorded in a sample from the cnmmum‘y under uﬁcncntlon
& [ .
. s f -
Serial no. v 2 |3 [« [5 |6 [7 [&8 % ||" 13 TS (6 (T[R9 ]20] ~wemer

¢

DBPlevel | 98 | 87|79 | 76 |92 [ 87 [ 90 | 79[ 85 gsl‘n T Tsa {757 |90 [76 |86 |84 [77 ] 89
(mmHg) 1 | ,

l " L
I e b -. = " P 9 a M ™ "

|
a) Whatis th: median blood pressure level?

b) Calculate e mean, variance and standerd diviation (pse the individual values)
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dom sample w.;ls drawn,
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s 13: Healtthwy eating - yeolk, ;hul{"i—fﬂﬂt « Toot= "-““’a%,aman %l‘

60
hen cducating 3 . : _
f the main themes and why, ¥ e .
' j’ ilinl m‘ﬁ:ﬂ OreadeF 0 AL 4.0-'-1 i Goal th ugh e'nﬂronmcntnl interventions may
nnium Develd

8. Achievement of one Mille .
hasten achievement of other MDGs. Explam.

| < ints at-'which
-l ‘& l']]ghllght mn_lor pol
' iseases by stool characteristics. children.
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. - Jscrwc-.cs" ) edro. ]
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! , x A
/ ¢scribe role of Community Health Extension Workers (CHEW) under the Community
9 o Health Strategy . 4
: | |
3 “" Stdmn II: LONG ANSWER Qmsno:Fé*(Aﬁmer BOTH questi

in the delivery of health

¥
L
2 i

ons in this sectién) Y

suspcclcd to be causing air pollution, the

.}_‘I* :-4‘,. Inasurvcy on & community Iwmgaroundhfm.tur :

i “number of hospital visits in the prcccdmg"j?'carfur fHe jfbungest '¢hild under 5 years is rworded )

fon a sample of households as shown below: =~

; HH No. 1[2]3[als|e]7|8]9]10]11 12|13 1411511617 |18 .19 20

¥ : < - 4]

. [No. of visits al7l6l6|3 (7129518 |7 |8 (4 (7 |9,[7 |6 (4 (7|3
VAPV /X-VVV\'V/V:!\'H\

BFY 1 g\r 3. 9,1 1A 4 #a T 07 3 16 3, If %0 1 10 B\ 6 1
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Can struc.t 95% corlf' dence interval l'orlthc mean numbcr ofhmpllal visits for the youngest child
' years in the population from Wlflch this random sample was drawn.
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"nﬂ‘r 3“3’ 2 £ questiong,

I\-%Hc‘"llth ﬁnanm:;ﬁmyuﬂ th ‘W"g
! Policy Goa_f:&ﬁiornl Eouay wa_lls aﬂ.‘:‘cm “HPU ant clement
e ™r5 s adth boved e, f mmplcmcntm[r Kenya Health
(a) Explaj 008 4oy wdmm Pmnr.w comn, 1o oo 29 HHF 4 Kerwsar. . -
e pamiﬂaﬁ‘-cx Ples how hea)q troatirmal . 9 To pooy i & lvne i
¢ . %F podugt wﬁ%ze th ﬁnancmg can mﬂucncc universal h : )
+8) Describe two mech, O WU 0w thes oy ”‘;‘1 et P'to oo et 2
- ‘Mechanismg or i ‘ i
s households i Kcnya 1.NHIE. n:(‘:“"'e“ that can :mprovc access to health care for poor B %
AL Feokn Vv awnce trad 16 o, W7t U bovs bore WWJ '

]
) Describe the Phcnomcnén“ %ﬁ;mm €W as Boyord Lo fvr,w:d:tmaL epkta

o &mlgcmcqva Er‘ Mme- WoAd Bowuk Lotmor donore
i natmn an
] mmunity to malaria 1n cndemlc arcas e rclanon ship to dcchOpmcnt of » |
r,l
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In an anthrg ' |
Soimity Itllil;n:tnc study to assess the hutritional status of school-going children in a rural
verage weight of children at 10-years of age was found to be 25.7 kg with a

- standard deviation of 4.5.
Accept th
normally distributed, ACCERL these I‘V‘nluv:s as pOpulﬂTwﬂ parameters and Thal weight is
l

(a) What is the probability T_hat a given 10-year old child in the community will have a
weight greater than 24 kg?

. (b) WhalJSﬁle piobability that the avcragc wctght of 48 10-year olds will lie between 25 and
27 kg?
(c) What minimum weight do 10 yea:—olds in the community need to have to be in the top -
10% of the children by weight? b [7 marks]
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T ! ' R-;go No-:llllttiniiuo. ...........

Variabld A Variable B

b cht ey Minimum Value 0.05 -0.20
:3.07 13,38

First quartile ‘3. '
Median 16.22 18.29
.8.97. 16.61

+ Mean

“Third quartile ' 11.59] 25.14 _ t
Maximum value . 43.34) 33,37 )
Variance 68 94 92,97

ﬁff The rmddlc fifty percent cf the ordered’ vaJues of variable, A fall between which tuy,

7 g6 4 “values? 307 and neq '

i i‘ Hy A‘E’) Whld\(vanablels left skewed? ., Give reason. |
L Meani 7, W/; an.n Mo -

i T jﬂ) Which of the vmablcu AandBi is moro variable?
B . . Nontle- 6 Hag 7 MM 'i -

o i
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' { oifine the second target of the fify, ;Mdm_.
féformeasuring its achievement ifth MDG (targetSB)anst@ Motal;

' lharmc. Mhecfernal. _L {1 melfo
- Skille o

Secti : '
ection Ill: LONG ANSWER UESTIONS (Answer Any TWO Questions in e

this section)
/. iscu
iscuss how the key health systems building blocks can influence health @

HEW i Gav
care delivery to Kenya’s population. = { 'MHJJ B L"‘“'l'“[ﬁ? BT
~Exondinl mw{i‘a{‘ncrfﬂ\““"‘

—HS
‘Q%) Differentiate between "Experimenta!igﬁéies’ﬂa d EObs%?‘\'gfioEaE I j
- v Wi GIte [

- studies”. (4 marks).

a‘(j

Dr. Evans conducted a study in order to determine the relationship
between exposure to pesticides and development of of skin diseases. He

identified 100 subjects who were exposed to pesticides and 100 subjects
Who. were no_f e:j:pose_d to pesticides. The subjects in the two groups were
followed-up for_'a speﬁiﬁed period of time. At the end of the follow-up
period, 50 of the exposed subjects and 30 of the non-exposed subjects were

found to have developed skin diseases.

/ f(f.i'u
T Ty gt

Which study design was thic? Give reasen for your choice (2 marks) _

ii. Give two advantages and two disadvantages of the above study (4 marks
- Risk con be E&M*HEW g, o . Y ( )
he rate of developing skin diseases in the two

f‘é: iii. Compute and compare t

< groups. (4 marks). |

= iv. How much more at risk of developing skin disease are the exposed”

-5_ \ subjects as compared to non-exposed subjects? (3 marks)

N v. What rate of skin diseases among the exposed subjects would have been

prevented if none of them had been exposed to pesticides? (3 marks)-

ed” @ At the community you are conducting community diagnosis, there are
various types of water sources accessible by the community members for

their domestic uses: B

"

-a) Hqﬁ would’you proceed to estabiish the types of water sources? !
b) Which of these would you classify as high risk sources and why?, - v
c) What kind of biological laboratory test wouid you recommend to

ascertain the status of the risk?
d) Briefly describe two types of affordable methods that are used to make

water safe for drinking at household level.
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SECTION 1}: LONG ANSWER QUESTIONS:

h2

W wWomen ‘.‘.‘!’., 1

i . . ] . X z 5 =
A phy: cal examination was used 1o screen for breast cancer on 2.3
biopsy sroven adenocurcinoma of the breast and in 5,000 age 1

The resuits of the physical examination were positive in |7

womer
800 co ‘trol women

(a) ~  Presentthe above results in a 2x2 table.

(b) Calculate and interpret the following:- k

(i) Sensitivity of the test
(i)  Specificity of the test
(iti)  Positive predictive value of the test

What can you say about the performance of this test for breast cancer

(c)
In a community survey on infant immunization in Kiambu County, the following

data arc obtained

’ ?w.-".[o‘.hﬂr s Ecucation Leve! !

' -
Cf\l\\ OY\fP | Brimary | Sccondary | Tertiary |
] I | P
_ o :“’““ , 0 i 32 16
immunization ' Immunized i '
Status | Not fully - B
] “20
Immunucd f
(a) State a null hypothesis_ {or the prob]t:m-und:‘.r investigation,
(b) Carry out the appropriate analysis. '
(c) Give your conc[usion. i

,- v :
Define 1 communicable disease and the

||-|| 0: FOIH_,J a1 v\illbu. L gasures can
taken te control a communicable dncds" :’1(.1:.‘1[1-10 poss sibie.chz !‘ nges/obstacles

each pcint. : PEY, et T i )
i . 3 o,
Vs ol o Ty
B ¥ ) I‘
g 3
of i
.lp :.1..._.'“ e Al -
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SECTION III: LONG ANSWER QUESTIONS

1.
\ﬁxk\\

INT Ll b o) P =
s 4] | . ft_\m-,ﬂ'n'm*l . LA —

©

-[i_' Min HStry of Health wislies o re- laq_nch o} l“(]{“l‘['[ﬂ for Prevention of \IGIhCT o Child
J

ansmission (PMTCT) - Briefly describe the'key areas that will need to be menitored
:oe the program isdzunched, '.-‘!;!1""‘“] ottt ) bavicks

/ Using malaria as an-exa niple, dL‘-\.lll‘rL what jm 1 understand by the terms anthrophihc

! endc
¢ I endogh

(e)

dophagic and endaphiiic and. how these can be used to take action against malana
L e A Y

3 " Fiyoag . 4 . 1 My - . K el . I 3 T KB e
-Vt these were 1,000 women.who warked in a factory. painting radium dials on

as telephone operators in 19435, Twenty of the radium dial
cer octween 1945 and

]
telephone operators dcvclopcd bone canc

- d ey T ——

‘ i —
What study design is l[L::' — ' (2 marks)
Pracant the'ira 11'- ey i Ay P e |
rresent the'results ina 2x2 table. (< marks)
Calculate and compare It'nc_i_* idence rates of bone cancer 1n the two groups of
women ;. AR (6 marks)
How much more it &8s} ﬁ
S20W much more 4l 1isK of bone cancer'was it for one exposed to radium dial
painting than un., note x:;o:,ed'? s ; (3 marks)
How much’ of boné u_ncur coulc‘. b,. prcvcmcd 1fthu:c was no radium dial
painting? - : ~Q . (S marks)

~

s 1 B I :
' i
I
w i
fozi= -
l|
Rore ea 1ND Bund, fin -
e i e e Gl
' 'Iz._“l:) o t
_ . ‘_--.j' \ .‘u - - J-. e -..- - l[
ﬁ:tk“ri i o : ¥
,{1.1" e 0 S e P
- { o M [
e :.:L.- I'_' A :‘_' As ® F'l o o il :‘L
. !
P'tge 13 01 13 "
v i
.li e JER o, ':!_.l " 3
S LU S R e L & i

Lhe incidence of bone cancer in these women up to 1973 was compared 1o that

4
\
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C 4. 11
~—-I-.lo_?_\_[ﬁ_1|____}_i_l'j “Goa NS\Wien J
| X WER QUEsT IONS (4 |
—- 20 TIONS ¢ e
HSwe) Y fwe (5 I
W, ({_J LHIU;‘JU\JI]‘ (||D NO CH
"\ :|H\]/\‘;1 ot & |
U HIuGlog o el Ming if o relaion: in s | smoky; gil. ;-q |
Sihof Al AXIS Jel'wr n '
j__T}_I_NIHE] ~lr|(. dr, velopimaong Ol Ceromary hearl ¢ing CH I e
‘ <y nearl iy .'.11‘.!‘,' CH YAnon
CYaretle smol o e : d
““ S and SHuon NON-smokpre VTR )¢ HI ned ane 1y ;Jér:"'il* &7 ‘,4 =
U Althe € o the « Uy

\ . 4;-.'-:J‘ 'Jr lJ \llf \H]f_']i:rﬂ-:; .'"'H'jl i'::' U[ ™
Q N0-smokess g f.lc\.'ulr_,",'n;-d CHD

(‘) Wiieh . stuely o 190 Was this™ Cunla

hz[l';|'] } r‘]l-Hl fbn'/\o !- ‘é 'u'.'\r«l"
- a L& Marks) - _f.ulmt*' ") J‘JM J" ';(’ “
() I.- resent tha rey e mlu.m D207 ¢ contingency tapte: Ao \agh 2 da
(Ill) ‘Nl]llh [-|~I':.'af'-i!|f"';5;:] (|._r;“ LASE a0 LTy ; d-can Ij(. C llr Wato
study? (1 mark]

o s P e Zak ';L @ =
‘e T2
Ineideuce Rala (paie 1240 QRf%R S 3000
(V) Calculale and compare (e rales.of deve aping CIHG nong he KH% 237 mee 11
' Sm kmu 4i o 36
subjects in the (. groups |7 marks ] EO'L% jé.,wwu than in a
' oRQrg
al ngk g fL,r iD as (.ump'ue‘

et : Nag
(v) How Many ime . moic |a vigarele s-.molcu o
— -

(o a ni)n—:-;rnn}'g”-'?lﬂ maks), ,%:?4. = L bime pges

(Vi) low ol ol CAAD wovld e nreventag if 10TONE SInokad? [ marks) 208 =1 T4 {1rD
2] . )
Ina [‘.'I)ﬂ‘ll'ﬂllﬂily -~um»; on wo

<7745
2"@ “51 %
men of repr r(iu' uw, age wnu W Ci\, - P &

; r'u:enlly us |ng [ mniy planning, htmt r*ho!cJ s were c1aJSIFec1 as rural,

per-urban or urban and I..n‘ re ,ull'a summarized as follo'_u,'rs:'.f_.

}-'-::btcif.-l‘: 2

R
i '. R hum] . g \ PLn ml‘.:.n . “Urban | Tova
{C'meﬁ'u‘,}”h:?ﬁ{q Ve . | |

es | 75 B0 TR
family plannmg . !_N_o__ _ L . ____:_______;?ﬂ_.__.-_-.__;1_.!3.__ .
: 161ef |

! u) Sl‘]lc a null h'*pu{l]em for the issue LmdLr sludy
") Car:y oul the appropriale analysis
c) Slale your conu'.;lon using a signiicance level of 0, Uo . i
rI} MName lhe Irthl Y U would use il in the unuly' 15 above lhe expected .
valuc* were Ioo small even after collapsing he lable

I o . ‘\:“ ‘- :l -.“- ‘/[_1
Nolc - B :

"% 0s(6) = 10.64‘;} 1 00(3) =1.615 X 0:(2) = 5 991 )

IR | B . ( )
y ars B) 14 449 ) 97.';(3) =0 348 ;(:‘Ig',-:l,{z) w g 3?8 . oq,f f(R |) ‘é |
| 3 T | =

Mape 2004 B ( 'J( e




/I\




Seedi (%) ™

. .
" ~ * .
Rep Mo teeessseasaarnaesinrenante N
SLLCTION MI; LONG \
SLCTION Til: LONG ANSWE Dpa— \
Answer any 2 questions. ER QUESTION (40 MINUTES (20 marks ench) \
\
1 [Healtk financi . \
ulil HNCINE w3 . ot __— .
Polic, Goal, & 15 considered as a very important clement in implementing, Kenya lealth
W™

a) Exvlain with ex: . . .

( H vith examples how health financing can influence universal health eare,

bY Describe twi ; '
(b) Describe twe mechanisms or initiatives that can improve access 10 health care for poor

houscholds i Keaya.
and its relationship 1o development of /3 C/b

iz
LijuL.l‘.,, the phencmenon BL;EI_W.'I.I}TL_;IHC_!&TIE“'I.OH
(/9 immunity 1o malaria in endemic areas. -

|
1

qutritional status of school-poing children in a rural
fage was found to be 25.7 kg, with a

lation parameicrs and that weight is

assess the 1

1\ In an anthropometric study to
t of children at 10-ycars 0

N community, the average weigh

8

standard deviation of 4.5. Accept these values as popu
normally distributed. ‘
b 4 Q
2

will havea . P

(a) What is the pr deability that a given 10-year old child in Lhe commuty
weighl greate than 24 kg? |
(h) What is the B Jbability that the average weight of

27 kg?

A8 ‘Oﬂypﬂis_ '\l'il'l lic bctwt:cn 1)]5 and 0&.5
23y

\

(c}) What minimim weight do 10.ycar-olds in the community necd to have to be in the top
_ g |7 marks)  _ 2, U%2S
‘ ~

’_'_—]sigfg_cﬂhc c:uldren by weight?

" Zaewe 2£0.38 = 0.3520; Zugone O 1,26 0.025; - 2rd
;_Ivsi.‘rth't Jf3429 = 0.0003; Z‘SEUIC Of 1.645 = 0.05 ' _.____,.-—;-—"'
Y e of 1.08 = 0.14005 Zgeorc Of 1,645 = 0.03; W
i 0f 1,285 (0,10 -
| _‘ " ” :- —r
' CTSFJ?'; o ) =
v ' .
= a5-2 = =253
-
o 7 s

{rg’;/h" )'—* mee- = o = {3
1 | ‘I/"T/ ’/zur ax

Ear
N 4 o
4 = oilsso = 02857

0wWoS O~ B0
0 3FTFH0VIGy

| gE= ® — '?Si o Wy ,
3Pz !

ok
Page 16 of 10 ’&
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o #
- @ Reg. NOweieeaannni L
Variable A Variable B
Minimum Value 0.05 -0.20
First quartile 3.07 13.38
| Medinn 0.22 18.29
| Meun B.97 16.61
Third quartile 11.59 25.14
Maximum value 43,34 33.37
Variance 68.94 92.97

(2) The middle fif -
lv IETC . - n x .
values? y percent of the ordered values of variable. A fall between which two

) ich vars . .
(b) Which variable is left skewed? Give reason.

(¢) Which of the variables, A and B is more variable?

-;?;—'-'ﬁ "lD-‘-'?, 3 Ns-ﬂ:\)\l (- -l‘q_qq ) ‘
. - —_— \#.60 - qQ'g‘c'

&7
Nenddd B = W x \62"°
Mo | i
chmx\\ "‘\"‘- . ".
‘\\ \j &5\? ‘3- ~ m“w\ﬂm\tg{u“ .._._mm!\t.

le\‘ -&L‘—-’tt - T™YA\lcwy, < W\(bl\‘q.h < "lv\dcl"Q .
P‘:BN s'q.«,...n:‘.\ = TYYL e 7 TVZ g 4;\:' P tv\.arlt

(g -oi-
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8 It e it ;
LM : EA—J oF 'E‘?“ ?
= I o S {' .'.'d'
f’“é“' . Section I: SHORT ANSWER QUESTIONS ~ *** “p
ot e data below describes the distribution of plasma volumes for Dat'.ents

. clinic in Nairobi. -
‘ seen ataclin ﬂ_:_ ‘Sp,ﬁﬁauco
| so -,EJ“UJ\\: 275286337276252349305 3.12 5&/
| =i
Cv: SR a) Calculate the mea‘ﬁ and standard dewatlo‘r{(SD) of the data v&a L ce s 3—,&2 E-FJG
; It gatticie: ofvanatlon »-15: sl o oy g .’1( nel

R o

s = ‘
Describe the phenomenon of biological transmission of communica ble
municable ke,
diseases and how it may influence prevalence of certain'communic Wk ‘,Hﬂ

2 diseases Bomea, "“"‘“““*‘*’“ SCoR Wgn an m%\d N 0 & Weegk & = o
in & veckn -\v o Yo > e, & Gemckud fo— g
— \ \o A . pA #.4
e T ‘3{;’%;? ﬁﬁh\ '“-\D“ v 3 mh‘-ﬁ P 2 e
UFr

“wvih-‘e-l v
Measuring disease eﬁce in populatlons is one of the actl\ntles of T . Mk \o
e 3\ \WAENUT,
eprdemlology : - (/: “oam o detr
frevalioc d, / 'LT‘UL
thvoeL 9% 3) D:fferent-ate the two measures of disease occurrence. i
Buvdd € @ l m e dnllaliy BX e
flanmisg D) Giveany three uses of the measgres | menthjd in (a) above 8 9% e o o AT
.’lr‘d‘.ﬁ:ﬁ-' aninh \ugdones |, -Chxg et At . i | m“?:, oo ?\o_ ;‘“m *‘\rﬁ_—
pres sl dhdw traX s N e \‘UJ."’-" [ s

Mgy G‘\u-& “Wetwian & Poeee. py e b b M g
ifi AL L o4 =] .

’,ZW%a) Enumerate 3 specific types 0 ) air pontants household members~ Lada

C" Afrm‘ L G‘" lb\h(* Hﬁdf —’Elfjartl{ﬂ )

nichice, are exposed to in a community setting e
\9‘51?}‘}‘4 T, S sy xes : ) EWEESRS, ol —L-——"’“" (-L*“J-—FN ;f:;l.:gh&c_sb
@—el\’-ﬂ"'r‘&/n'jwﬁen inthe course of the day are the highes m oor e4 nosures

‘.’U.duvt |
Wehwacs  experienced and why? % BEtcre | oo S Sl
i U‘sea&o C:,\wmcsc 'f"wlfﬁbm Uiy - ‘E;:M o
:,U3,c.:,‘>( Briefly explain the immediate and underlymg determlna nts of under-' MSeiN,

s 2 - e
nutrmon in children. \m, o EJ(HJI‘“ cﬂ~w by *?f'\“’”“"t‘ﬁhﬁ..' |
— Sendoecanomic, v o .’% .--‘mt@
Au,fob Outline Any Five significance of demography for hea Shi e

\ K vodfa priovies
e marksj.ﬂe““&s o pErtiS ig\\!\iﬁ. reso e Mocetio—
ey bore on | \\?\l(oilon or ot henranyis—

- —Yvaus ceu & daf—

\i\ '\J‘j’ Nalrt\o« o i Veowiy b prrazi gy oot 1D —
'\3 ;" Outlme Any Fwe benef ts of investing in school health as a strategy for |
R T eyt o WAL -y pt e
-K; r Cer u‘nlum cx_utwau.% &«l L}Fmﬂrfu POF"‘&?& “ﬂhi"’?\“ 4 ?Mh |
\J Br:eﬂy de,éﬁﬁe ﬁny fivewways through whlch ':pldE}ni? andMedlcaI .:c_.fmzﬂmm
}?’ r “ﬂnf QE:UDOIUEV |nter1mk JL_( ,lls,w, % r..n.Qu
£ J‘*"‘“ aafEt <ol
] &‘ I the’ “theory' uf economlcs why is the:slope of the demand' negarms; % |
P DRNZ: |

{downward slope) and supply curve a pos tive S

10

1l @) <



Wﬂd. -d‘:wd-

,chwa(cu 1':.: 8 ’] by oy~ Poncloselect £ wef free 2
e T G Ypaihs miots i Tt SUaddth v, o e
' = T Gang dll eahet B tadece

o Aea s
. . .
\S, Outline two ways by which urbanization increases the prevalence of respiratory illness

} among urban dwellers air pellehon.
| o Global warming
| €, o~ Dr. Jamesis planmn:: to conduct a study on the rslauonshjp between physical activity
® and developing of diabetes. He decides to carry-out a case-control study for his research

problem. List two (2) advantages and three (3) disadvantages of Dr. James' study.

8%7. Selectone cultural practice and cxp]ain its implication for ljcalth G fwa,,ﬂ PN 23 e

Oo P bra . . Lo b 6"
SAList four features of a successful community based healt rogra c.‘)j o™ it
" .
X 9. Using cxampies distinguish. between nutrmon s x:mng and nutritional sggyeﬂlance.
\isde \“"’“" -3 e Ap ewil "a;

% X, &) State three methods of preventing fire outbrcak prin fubas (o 3, =05
o

b) State two KEY stakeholders who in case of disasters such as fire are the most
beneficiaries of material safety data sheet (MSDS). Justify how they benefit from MSDS

v
a"l' Y. Define the terms Gonotrophic cycle, Oviposition and LarvaI: habitats. Highlight how

lhesc can be used for control of malana |

\K W Deﬁnc the concepts of averige and m gmal costs. lee an Fpphcanon example in the
rOVIST of medich pm-n
o Provisian g —_vccﬂl' P w\\'_ ey n\JM
: ’ 3 Ly TN TSP A T ) LM WG"“’!‘J'T!:; o+
Section [II: LONG ANSWER QUESTIONS. (Answer BOTH q testions in this section) V-
[

1. In the budgeting process,

»

a) Differentiate between step down allocation and activity based costing.

"b) Which method would you use to determine costs of 2 maternjity care?

c) What information do );ou rcquifc in order to work out the bullﬁget?

|
y \Followﬁng an intervention to improve healthier life styles, the fo[lbwing diastolic blood
by

’ ssure levels were regorded i amplc from the cammumty dr{r inte
’ 3 "r ? E b s 74 1" 1% i s
lc-nalnn | .* 11 [4 7 8] 9! 10 nlu]ﬂs ﬂs 7920 T |
joamm: ‘:7 ST ET R R TR BT T AN EE 90 75 u 8|77 |89 !_{L j
(mmHg) . !
I D IR RSN 3 NV
a) Whatis thc mcdlan‘blood pressure level? gl+ - =
b) Celculate the mean, variance and standard deviatiol
Méiw = J
page20f3
£ e LB




” I o "
Ao Vutsed by puvneg of rf?”"‘f'; ;n,,,we,?w:h’ﬂ’ﬁf‘“"‘”
: B4 le quoiv rrhaihn Wl e - .
(= C . ized dedmmial Cﬂ,wf’m”'dy——’am <4 ?"“ “'Iﬁﬂﬁf P*Aﬁ}L \
; D:m o « 'T’rnrhm'"_"'cm"ir‘ﬂ ']r\\'.[:f‘- cl.S m kfﬂl‘l?ﬂ‘ v n'sU!'Lgﬂ
D -c,wr\'“f‘@ 55 U 5 re, SCQ
] z ™~ =] -
SR s oW g et a el e
) '- & ¥ List five ac vities in the Gm‘I h Momtnrmg - Y
: ng to eac.
W e ‘g]l the cmcslvﬁ?ﬁ‘c land mte r.hc e of t'n: cxtmgunshcrs corresponding

r'.l

class of fire. Name 2 k:szﬁgf:lﬂcrs Wh ould be
Priad M}LIS! four-features. ofa} ol camm mlty basua'h

°%%w

inivolved in fire Saﬁ:t)’
M«: bn-chaw

cc ts
Yo en e
RS - n ability and Period fcruhtfmfﬂr ?-*’ L. vt lhq vl meialdis of a__d
j :’l’{;ﬁ‘?.'i ‘ Mu]uple ccrementands ard, ,cu%ﬁc wbla;r%ﬁf L % frrashot pond z
o i 2R § ckovs $ ,ﬁ!‘ . Jl.- ; o pf:ﬁrre‘ By :
" Section|IIT : LONG A.Ng QUESTIONS (Answer BOTH qu&stlons in this section)

i

rccordcd in a recent community d:agnos:s
!

)" The following are distances from the household to thc ncarcst public health facility as

[HHNo.' 1(2]34 '|‘5,' 7

,

9T10] 11|12 13|14 [15] 16

‘,p..__,

X

-
gl

[_uuanq'e from facility £l

w

&

10 (3] 01X

-4

'a)(. }Yhut is thc mcdian Ji_stgncc : L .. _F

J

i
;;;) ‘Calculate the standard error of the mcan

SEN=
Py

y Construct a 99% confidence interval for thc
Na!e f‘?” (15) '='.2 9‘67

SD

Eac:hty in the population

fz
- g
}

o

b) palculah: the mean, variance and standard deviation (use the individual values)

égnq ,—C-d/‘ﬁ\ -

mcan distance from household to health
from whlch this' random sampl¢ was drawn.

Xt 't,eov X GEM -

y A7 :”J— h . - r4
| "””5" 2’ Dr X conducted a study to dctcrmchf there was any association between exposure to '
bl m‘dratlon in uterus and development oftumurs ‘Oftthe 221; children who had been

' exposed tqradiation, Sb developed tumors while of the'1395 children who hadn’t been m\R
S :xposcd A3 developcd tumors...__ e o b ,\' ‘_dR
,da) |What study desi n was th:s? . 3371 to”’
ol )} Present the above rcsults using a 2 by 2 contmgcncy tabl: p | <Te ] 5 a{"
"‘E - ,\r’f?-o. ;
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